9stufige Grauskalierung zwischerL* g;n=4.0 undL* ga=96.0, Yg,ei=90.0, Normierung: grauU

C*0ane4-0, L*0au=50.0, L 0aw=96.0, Yoan=0.4, Yoa 7 18-4, Yoaw=90.0, Coay=Yoaw: Yoan=203.2

L* A\ L*in=46.1,L%1a0=50.0,L*taw=62.1, Ytan=15.4, Yiau=18.4, Yian~30.6, Cray=Yaw: Ytan=2.0
1004 n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) /20 (L*r) 1/2.0-|*0r
()9 9%0 10 900 10! 621 1.0 306 1,000 0,000
3.8
8 845 0875 650 0721 583 0.763 263 0,873 0,002
33
751 .7 730 075 452 049 55.0 0556 230 0,745 0,004
: 2.8
6 615 0625 298 0328 522 0.381 203 0,617 0,008
i 2.2
504 @5 500 05 184 0201 50.0 0.241 184 0,491 0,009
: 1.7
@ 385 0375 104 0111 483 0137 170 0,370 0,005
; 1.1
@:3 270 025 51 0.05247.2 0.065 161 0,254 -0,005
25+ } 07
@2 155 0125 20 0.01746.5 0.022 156 0,148 -0,023
3 0.3
@: 40 00 04 00 461 00 154 0,010 -0,010
0~ AL*..=115 i=12..9 Normierung: Yigiu=Yoay —Joait Yoref _
ta=11. (i=1,2,...,9) 9- Ttailu=YoaU ~y_ V) o 3=0,0001
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